Rewriting Formulas

l. uc=v
2. y=—6u
1Y —g
u
u
4.2 = —
V

Solve for u in terms of the other variables.

a
5. — =V
u
b
6. — =2
u
u
7. —=Yy
Z
8. —3u=173

WWW.intermathschool.com

9. 3u=v
10. uy =a
moy=2

u
12. uy = —10




Rewriting Formulas Answers

1. uc=v
Y
u—_
C
2. yv=—6u
__J
6
3.2 =g
u
Yy
u__
a
u
4, 2 = —
Y
u=72v

Solve for u in terms of the other variables.

a _
s £ 9.3u—vv
u u— —
a
U= — 3
%
10. uy = a
b _a
6. —=c u=-
u
b
u=—
c
ll.V:X
u
u u:X
72—)7 v
U=yz
12. uy =—10
8. —3u = 10
L U=——
U= 3 y
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